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1. Suppose there is an excess of demand in the market for oranges. What do you expect will happen in that market?
Diagram 1: 








This diagram shows the excess of demand for oranges in the market. Quantity of demand “Q1” moves(increases) to “Q2”. It represents that the quantity of orange demand exceeding the limited number of orange which firms are able to supply.


Diagram 2:









With the self-regulating function of a competitive market, the market for oranges would self-maintain back to a new equilibrium state. Therefore, the red point where excess of demand appears would move up to the green point “a new equilibrium point”. Finally, price of orange would go up and the quantity of demand would still be more than before.
2. The market for cars is in equilibrium. Now, the price of gas goes up. What you think will happen in that market?

Diagram 1: Gas








This diagram shows when the price of gas goes up, quantity of gas demand would decrease as people would be willing and able to buy less.
Diagram 2: Car:








Since car and gas are related goods and have the complementary relationship. When price of gas increases and thereby the quantity of gas demand decreases, the quantity of demand in car market would consequently decrease in a relative manner, although the price of car would remain in the same level.
3. The market from a certain product “X” is affected by two changes. First, the average income of consumers increases; secondly, the costs of inputs decrease. Starting from an equilibrium point, compare the initial and final positions in this market and comment them.


Diagram 1:                                 Diagram 2:






Diagram 3:                                 Diagram 4:









Firstly, the first diagram shows people are able to consume more and demand more quantities of product “X” as the average income of them increases. Nevertheless, since market is a self-correcting mechanism, it would direct back to a new equilibrium point (the green point). Consequently, price would go up and the quantity of demand for product “X” would comparatively increase. Secondly, when the costs of inputs decrease but the level of product market price remains the same, firms would be able to produce more “X” with lower costs. We can find it out from diagram3. However, with the nature of a competitive market, the market would maintain itself to another new state of equilibrium. As a result, we can see in diagram4, price of product “X” would go down from “P2” to a new level “P3”, and the total quantity of demand would increase from “Q3” to “Q5”.
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